Tya1I9I"AYY—X

oo Ov5TIVR

@IJHAX
bl T F_| HX¢
& & ?iéj Pl b L | L Le A |Zagl| -ae D | o B EiNEE HE
(mm) | (M,R) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) (mm) (mm) | (mm) | (mm) | (mm) | (g)
ALL4-M5 4 |M5X08| 17.2 | 299 | 227 | 348 | 40 18 | 10.0X11.0 | 98 | 20 | 20 | 30 | 130
ALL4-R1/8 4 R1/8 | 17.2 | 324 | 227 | 373 | 80 18 | 10.0X11.0 | 98 | 50 | 3.0 | 40 | 140
ALL4-R1/4 4 R1/4 | 17.2 | 364 | 249 | 413 | 110 18 | 14.0X154 | 98 | 7.0 | 30 | 40 | 270
ALL6-M5 6 |M5X0.8| 185 | 347 | 250 | 41.0 | 40 15 | 12.0X13.0 |126 | 20 | 20 | 35 | 200
ALL6-R1/8 6 R1/8 | 185 | 372 | 250 | 435 | 8.0 15 | 12.0X13.0 |126 | 50 | 50 | 120 | 220
ALL6-R1/4 6 R1/4 | 185 | 412 | 262 | 475 | 11.0 15 | 14.0X154 |126 | 7.0 | 50 | 120 | 31.0
ALL6-R3/8 6 R3/8 | 185 | 422 | 278 | 485 | 120 15 | 17.0X185 |126 | 90 | 50 | 120 | 450
La ALL8-R1/8 8 R1/8 | 207 | 402 | 284 | 475 | 80 16 | 14.0X154 |146 | 50 | 50 | 185 | 30.0
L1 ALL8-R1/4 8 R1/4 | 207 | 442 | 284 | 515 | 11.0 16 | 14.0X154 |146 | 7.0 | 7.0 | 23.0 | 350
r‘F—' ALL8-R3/8 8 R3/8 | 207 | 452 | 300 | 525 | 120 16 | 17.0X185 |146 | 90 | 7.0 | 23.0 | 50.0
/A H] a ALL10-R1/8 10 | R1/8 | 247 | 462 | 339 | 550 | 80 19 | 17.0X185 |17.5 | 50 | 50 | 22.0 | 480
RN ALL10-R1/4 10 | R1/4 | 247 | 502 | 339 | 590 [ 11.0 19 | 17.0X185 |17.5 | 7.0 | 7.0 | 345 | 53.0
’ ol r B ALL10-R3/8 10 | R3/8 | 247 | 512 | 339 | 600 | 120 19 | 17.0X185 |17.5 | 90 | 9.0 | 37.0 | 59.0
S s ALL10-R1/2 10 | R1/2 | 247 | 552 | 369 | 640 | 150 19 | 22.0X245 |17.5 | 120 | 9.0 | 37.0 | 94.0
- ﬂ, ‘ﬂ l ALL12-R1/4 12 | R1/4 | 263 | 552 | 36.8 | 652 | 11.0 20 | 19.0X21.0 | 200 | 70 | 7.0 | 36.0 | 72.0
N Hxg ALL12-R3/8 12 | R3/8 | 263 | 562 | 36.8 | 66.2 | 120 20 | 19.0X21.0 |20.0 | 90 | 9.0 | 430 | 780
“] ; jﬂ\ ALL12-R1/2 12 | R1/2 | 263 | 602 | 386 | 702 | 150 20 | 22.0X245 |20.0 | 120 | 10.0 | 43.0 | 105.0
g | \T
M#a.U
TIh<
J NRAN
T/ L#8.] \pizsrohfix
o
I 45" T)L%
[ RULE Y
?ﬁ,ﬁ?" hTU ¥ ’ 7 HX ¢
j I N e I T N B v D | o (RAE AN HE
(mm) | (MR) (mm) (mm) (mm) (mm) (mm) (mm) | (mm) | (mm) | (mmd) (g)
A45L4-M5 4 M5X0.8 | 197 34.4 4.0 13 10.0X11.0 9.8 2.0 2.0 3.0 7.0
A45L4-R1/8 4 R1/8 19.7 36.9 8.0 13 10.0X11.0 9.8 5.0 3.0 4.0 9.0
A45L4-R1/4 4 R1/4 21.9 40.9 11.0 13 14.0X15.4 9.8 7.0 3.0 40 | 160
A45L6-M5 6 M5X0.8 | 22.4 38.6 4.0 15 12.0X13.0 126 | 20 2.0 35 | 100
A45L6-R1/8 6 R1/8 224 411 8.0 15 12.0X13.0 126 | 5.0 50 | 120 | 120
A45L6-R1/4 6 R1/4 23.6 451 11.0 15 14.0X15.4 126 | 7.0 50 | 120 | 180
A45L6-R3/8 6 R3/8 252 46.1 12.0 15 17.0X18.5 126 | 9.0 50 | 120 | 26.0
Ls A45L8-R1/8 8 R1/8 255 44.0 8.0 16 14.0X15.4 146 | 5.0 50 | 185 | 15.0
A45L8-R1/4 8 R1/4 255 48.0 11.0 16 14.0X15.4 146 | 7.0 70 | 230 | 200
(‘/\ o A45L8-R3/8 8 R3/8 27.0 49.0 12.0 16 17.0X18.5 146 | 9.0 70 | 230 | 280
4 P A45L10-R1/8 10 R1/8 30.0 50.0 8.0 19 17.0X18.5 175 | 5.0 50 | 220 | 220
L A45L10-R1/4 10 R1/4 30.0 54.0 11.0 19 17.0X185 175 | 7.0 70 | 345 | 270
A45L10-R3/8 10 R3/8 30.0 55.0 12.0 19 17.0X18.5 175 | 9.0 90 | 87.0 | 330
A45L10-R1/2 10 R1/2 33.0 59.0 15.0 19 22.0X24.5 175 | 120 | 90 | 385 | 520
A45L12-R1/4 12 R1/4 335 58.7 11.0 20 19.0X21.0 200 | 7.0 70 | 430 | 340
A45L12-R3/8 12 R3/8 335 59.7 12.0 20 19.0X21.0 200 | 9.0 9.0 | 470 | 400
A45L12-R1/2 12 R1/2 353 63.7 15.0 20 22.0X24.5 200 | 120 | 100 | 470 | 57.0

<

/L $d1
T/ |48, \Hzrordz

40



